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Problem 1. Suppose L = {P}, where P is a singulary predicate. Let 2 be a
finite L-structure, and suppose B = 2. Prove B = 2.

Problem 2. Let £L = {P, : n € w}, where each P, is a singulary predicate. Let
T be axiomatized by the sentences

Vz Pyx,
Vo (Ppy1x — Ppx),
dz -(P,x — Pz,
Vo Vy (~(Prz = Popaw) = (2(Pry = Poy1y) = 2 =1y)),

where n € w. Prove that T is complete.

Problem 3. Let ¥ and X' be sets of sentences of some L such that
YE-0c = YFEo

or all sentences o of L. Prove that > U as a model.
f Il f L. P hat YUX' h del

Problem 4. Suppose ® and ¥ are 1-types of a consistent theory T'. Prove that
T has a model in which both ® and U are realized. (Use only Compactness and
the appropriate definitions.)

Problem 5. Assuming T is w-categorical, prove that T has only countably many
complete types.



